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The 13" Hong Kong Mathematics Cup Challenge
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An egg weighs about _ g.
A. 6 B. 60 C. 600 D. 6000

2. Twe( )P HARELE PR LN D
What arithmetic symbols should be added to the following
() to make the formula hold?
2047 () 1212 ¢ ) 2987 = T72
A, + - B. + -+ C. - »+ D. - » -

3. FRE 1TZEREEN=ZL - > FEI OB ?
My brother bought one-third of these apples, that is, how
many did he buy?

C.6 D.9

A3 B.4

4. eHp &3 87 A o
There 1s a total of milliliters of soup in the
measuring cup.
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A. 4200 B. 250 C. 4500 D. 4400
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